

Daily Practice – 21

- 1) 149,753 + 419,473 =
- 2) 719.01 278.9 =
- 3) 5369 x 7 =
- 4) $8,906 \div 4 =$
- 5) $2\frac{2}{3} + \frac{4}{3} =$
- 6) $134.9 \div 10 =$
- 7) 4 9 =
- 8) What is the perimeter of a square which has sides of length 7 cm?



Early Bird Maths – Daily practice

Here are the next 5 days for your Early bird maths in your new pack.

Complete one set of questions a day, writing your answers directly onto the sheet. For many of the questions you will need to complete some calculations i.e column addition, bus stop method etc. There are several sheets of squared paper included in the pack for you to complete your methods of calculation on.



Daily Practice – 22

- 1) 578.3 + 429.87 =
- 2) 178,801 94,209 =
- 3) 1236 x 8 =
- 4) $1,015 \div 7 =$
- 5) $2\frac{3}{8} \frac{1}{8} =$
- 6) 0.871 x 1,000 =
- 7) -3 + 10 =
- 8) What is the perimeter of this rectangle? 3 cm

11 cm

Daily Practice - 23

- 1) 741,816 + 102,086 =
- 2) 732.75 485.9 =
- 3) 7346 x 3 =
- 4) $8,906 \div 5 =$
- 5) $\frac{7}{9} \frac{1}{3} =$
- 6) $562.08 \div 10 =$
- 7) $\frac{1}{2} = \frac{1}{8}$
- 8) -4 3 =



Daily Practice – 24

- 1) 109.21 + 387.8 =
- 2) 56,784 14,963 =
- 3) 2356 x 7 =
- 4) $8,631 \div 3 =$
- 5) $\frac{2}{5} + \frac{1}{10} =$
- 6) 1.08 x 10 =
- 7) $\frac{2}{5} = \frac{10}{10}$
- 8) -6 -3 =



Daily Practice – 25

- 1) 907,281 + 444,444 =
- 2) 359.13 79.6 =
- 3) 4171 x 9 =
- 4) $2,964 \div 4 =$
- 5) $\frac{6}{8} \frac{1}{4} =$
- 6) $318 \div 1,000 =$
- 7) Simplify $\frac{5}{10}$
- 8) 3 + -7 =



Daily Practice - 26

- 1) 471.89 + 361.74 =
- 2) 7,497 4,584 =
- 3) 1842x 6 =
- 4) $6,185 \div 5 =$
- 5) $\frac{2}{4} = \frac{1}{2}$
- 6) 12.78 x 100 =
- 7) $\frac{9}{16} \frac{2}{8} =$
- 8) $\frac{1}{5}$ of 55 =

Early Bird Maths – Daily practice

Here are the next 5 days for your Early bird maths.

As before, complete one set of questions a day, writing your answers directly onto the sheet. For many of the questions you will need to complete some calculations i.e column addition, bust stop method etc. There are several sheets of squared paper included in the pack for you to complete your methods of calculation on.



Daily Practice – 27

- 1) 517,176 + 900,009 =
- 2) 564.08 235.6 =
- 3) 3614 x 4 =
- 4) $8887 \div 6 =$
- 5) $\frac{6}{10} = \frac{1}{100}$
- 6) $407.4 \div 100 =$
- 7) $\frac{6}{20} + \frac{5}{10} =$
- 8) $\frac{1}{4}$ of 48 =



Daily Practice – 28

- 1) 763.6 + 204.08 =
- 2) 567,187 234,093 =
- 3) 5152 x 3 =
- 4) $1.015 \div 7 =$
- 5) $\frac{1}{5} = \frac{1}{10}$
- 6) 1.275 x 1,000 =
- 7) Simplify $\frac{12}{16}$
- 8) $\frac{2}{6}$ of 48 =



Daily Practice – 29

- 1) 147,843 + 417,891 =
- 2) 947.35 168.4 =
- 3) 5423 x 8 =
- 4) $4,792 \div 2 =$
- 5) $\frac{90}{100} = \frac{1}{10}$
- 6) $247.14 \div 10 =$
- 7) $\frac{3}{7}$ of 49 =
- 8) What is the name of this 2D shape?



Daily Practice – 30

- 1) 578.2 + 189.27 =
- 2) 68,703 55,469 =
- 3) 1357 x 4 =
- 4) $5,982 \div 3 =$
- $5) \ \frac{8}{10} \frac{30}{100} =$
- 6) 6782 x 10 =
- 7) $\frac{2}{3}$ of 27 =
- 8) What is the name of this 2D shape?













Daily Practice - 21

- 1) 149,753 + 419,473 = 569,226
- 2) 719.01 278.9 = 440.11
- 3) 5369 x 7 = 37,583
- 4) $8,906 \div 4 = 2,226 \text{ r } 2$
- 5) $2\frac{2}{3} + \frac{4}{3} = 4$
- 6) $134.9 \div 10 = 13.49$
- 7) 4 9 = -5
- 8) What is the perimeter of a square which has sides of length 7 cm? 28cm



Early Bird Maths – Daily practice

Here are the next 5 days for your Early bird maths in your new pack.

Complete one set of questions a day, writing your answers directly onto the sheet. For many of the questions you will need to complete some calculations i.e column addition, bus stop method etc. There are several sheets of squared paper included in the pack for you to complete your methods of calculation on.



Daily Practice – 22

- 578.3 + 429.87 = 1,008.17
- 178,801 94,209 = 84,592
- 3) 1236 x 8 = 9,888
- 4) $1,015 \div 7 = 145$
- 5) $2\frac{3}{8} \frac{1}{8} = 2\frac{2}{8}$
- 6) 0.871 x 1,000 = 871
- 7) -3 + 10 = 7

28cm

What is the perimeter of this rectangle? 3cm

Daily Practice - 23

- 741,816 + 102,086 = 843,902
- 732.75 485.9 = 246.85
- $7346 \times 3 = 22,038$
- 4) $8,906 \div 5 = 1781.2$
- 5) $\frac{7}{9} \frac{1}{3} = \frac{7}{9} \frac{3}{9} = \frac{4}{9}$
- 6) $562.08 \div 10 = 56.208$
- 8) -4 3 = -7



Daily Practice - 24

- 109.21 + 387.8 = 497.01
- 2) 56,784 14,963 =41,821
- 3) 2356 x 7 = 16,492
- 4) $8,631 \div 3 = 2,877$
- 5) $\frac{2}{5} + \frac{1}{10} = \frac{4}{10} + \frac{1}{10} = \frac{5}{10}$
- 6) $1.08 \times 10 = 10.8$
- 8) -6 -3 = -3



Daily Practice – 25

- 907,281 + 444,444 = 1,351,725
- 2) 359.13 79.6 = 279.53
- 3) $4171 \times 9 = 37,539$
- 4) $2.964 \div 4 = 741$
- 5) $\frac{6}{8} \frac{1}{4} = \frac{6}{8} \frac{2}{8} = \frac{4}{8}$
- 6) $318 \div 1,000 = 0.318$
- 7) Simplify $\frac{5}{10}$ (÷5) $\frac{1}{2}$
- 8) 3 + -7 = -4



Daily Practice - 26

- 1) 471.89 + 361.74 = 833.63
- 2) 7,497 4,584 = 2,913
- 3) 1842x 6 = 11,052
- 4) $6,185 \div 5 = 1,237$
- 5) $\frac{2}{4} = \frac{1}{2}$
- 6) 12.78 x 100 = 1,278
- 7) $\frac{9}{16} \frac{2}{8} = \frac{9}{16} \frac{4}{16} = \frac{5}{16}$
- 8) $\frac{1}{5}$ of 55 = 11

Early Bird Maths – Daily practice



Here are the next 5 days for your Early bird maths.

As before, complete one set of questions a day, writing your answers directly onto the sheet. For many of the questions you will need to complete some calculations i.e column addition, bust stop method etc. There are several sheets of squared paper included in the pack for you to complete your methods of calculation on.

Daily Practice – 27

- 1) 517,176 + 900,009 = 1,417,185
- 2) 564.08 235.6 = 328.48
- 3) 3614 x 4 = 14,456
- 4) $8887 \div 6 = 1,481 \text{ r1}$
- 5) $\frac{6}{10} = \frac{60}{100}$
- 6) $407.4 \div 100 = 0.4074$
- 7) $\frac{6}{20} + \frac{5}{10} = \frac{6}{20} + \frac{10}{20} = \frac{16}{20}$
- 8) $\frac{1}{4}$ of 48 = 12



Daily Practice - 28

- 1) 763.6 + 204.08 = 967.68
- 2) 567,187 234,093 = 333,094
- 3) 5152 x 3 = 15,456
- 4) $1,015 \div 7 = 145$
- 5) $\frac{1}{5} = \frac{2}{10}$
- 6) 1.275 x 1,000 = 1,275
- 7) Simplify $\frac{12}{16} (\div 4) \frac{3}{4}$
- 8) $\frac{2}{6}$ of 48 = $\frac{1}{6}$ = 8, $\frac{2}{6}$ = 16



Daily Practice – 29

- 1) 147,843 + 417,891 = 565,734
- 2) 947.35 168.4 = 778.95
- 3) 5423 x 8 = 43,384
- 4) $4,792 \div 2 = 2,396$
- 5) $\frac{90}{100} = \frac{9}{10}$
- 6) $247.14 \div 10 = 24.714$
- 7) $\frac{3}{7}$ of 49 = $\frac{1}{7}$ = 7, $\frac{3}{7}$ = 21
- 8) What is the name of this 2D shape? hexagon



Daily Practice - 30

- 1) 578.2 + 189.27 = 767.47
- 2) 68,703 55,469 = 13,234
- 3) 1357 x 4 = 5,428
- 4) $5,982 \div 3 = 1,994$
- 5) $\frac{8}{10} \frac{30}{100} = \frac{80}{100} \frac{30}{100} = \frac{50}{100}$
- 6) 6782 x 10 = 67,820
- 7) $\frac{2}{3}$ of 27 = $\frac{1}{3}$ = 9, $\frac{2}{3}$ = 18
- 8) What is the name of this 2D shape? heptagon